TR 3 0 FEERE - (ETFEDERERIANR

FRABRIFRBEMEAR  [FE0)

A

FFRISTIRFR

BECCEE S N g BE a3t
2R BRES ) - - mET (AB=R) | (DEETR T PR Zooft =

£ NN NN NN NI N N NI NI NI NI NI
SRR E ! 0 9o 1
1t 0 0 0
ST NSRS E 4 0 4 ©
1t 1 2 0 3 0
WA E N AR E 2 43 0] 2 2 2 0] 56| 6
1t 18 15 1 7 2 0| 40 4
BE RIS BN E R R R E ! 0 8§ ©
1t 2 0 5 0
BEPE A ERERAERE E ! ! ! 1 0 2 2
1t 2 1 0 3 0
B A IRE AR 1E 2 1 )
1t 1 2 0 3 0
DB R E 0 9 ©
1t 0 0 0

A LR E ! 0 9o 1
1t 0 0 0
MR E ! o 1 ©
1t 0 0 0
P ] E ! o 1 ©
1t 1 1 0 1 1
B CER o o 9 ©
1t 1 0 1 0
R = ! o 1 o0
1t 0 0 0
KSR E 2 o 9 2
1t 2 1 0 2 1
~ - IF 0 0 0 0 0 2 0| 44 0 0| 17 3 0 4 8 0 0 0 0 6 0 0 1 0 0 1 0 0 0 1 0| 73| 14
= : 1t 0 0 0 0 0 0 0| 22 1 0| 19 2 0| 13 3 0 0 0 0 3 0 0 1 0 0 0 0 0 0 0 0| 58 6




FPEFRRDIB AR S PR

FH - ERER

5

X5

il

A

P
&)
i
o

#h

2

ESCFEBASF Y

fit

BEFUARBEHREEMRE

fit

N|DH|N

P EP AR BRI R

fit

=HIN[O| =

P EPHERERIS AR

fit

KRR

fit

Nlo|[o|+~|~=|N

17

fit

—-

—-

=== k= k=l k=l =l k=1 =1 =1 =1 =]

Nlwl=|lo|lo|o|Oo|r|[=[N]|]O|O

EEFROBUHBIBIZ S AMARL

=R - RS

5

X5

4
=]

g
HE

#h

£

2

B FEERIERT R

1

fit

ESCFEBASF Y

fit

BEFUARBEHREEMRE

fit

BEFBEELERSRE

fit

P EP AR BRI

fit

R EPYIIERIERY

fit

fit

P EPHIERIRIS PR

fit

BFEEMEEFR

e

fit

EFEEMEREER

e

fit

EFEEMIRIEER

e

fit

KRR

fit

HlO|o|[O|r|H|O|=|[r|Oo|C|O|o|O|O|N|[O|O|O|N|N[N]O|O|O

fit

O|lOo[O|Oo|O|O0|O|O|O|Oo|O|Oo|O|O|Oo|o|o|Oo|O|Oo|[Oo|Oo|O|O|O| O

—-
w

w|lo|o[Nv]|o|lo|o|lofr|o|lo|o|lo|lr|o|lo|o|+|o|r|N[NMN] OO =




SRS R ERIINR (A2
o= BARERR
IR i EHk : ~
=R . RS o T Mike T (BEEZR)
X4 NIER NI NI NI NIE
1 1 1 1 1
HES RN NERRR AT s 0|3
i 1 1 3 0 5 0
1 1
WA NN E RS LS s 0 0
i 0 0 0
BT SR AR 2 I £ > A T
i 0 0 0
BTSRRI EER s - 0101
i 1 0 1 0
BT SRR RIS R a1y L 0] 0|0
i 5 0 5 0
0 0 0
SR A SR LR I &
1t 1 0 1 0
st 1F 0 2 0 0 1 1 0 1 4 0 0 0 0 4 5
= i 0 0 0 0 6 0 0 3 0 0 3 0 0 12 0




PSR OBLHRIBRERIRT (A2
ST -
+o R 8 ~
N e o f H = T
X% NI NIER NI NIER
1 1
BES RN AEERAA TR = 0 0
o 1 o110
1 1
1T TR A LS I = 0|0
1t 0 0 0
TSR R S e & 01010
1t 5 0 5 0
st 1F 0 1 0 0 0 1 0 0 0 0 1 1
=" @ | 0|l 0] o0o|o|5|0]o]1lolo]|s6]o0
S ROBLHNBSEREAR TR
T i _
e 5Ry =5 &t
=R . EIREL ) M ' =
X% NI NI NI NI
HEY RSB EREAER 1 1 1 0j 110
1t 1 0 0 0
BT ST RSB 2 S & > 01010
1t 0 0 0
T SRR S L B 1 01010
1t 1 0 0 0
T SRR I 1 01010
1t 0 0 0
R 1E 0 0 0
SRR R L2 S
1t 1 0 0 0
~ = 1F 0 0 3 0 0 1 0 1 0 0 1 0
- @ | 0| 1] 0]o0|2]0]lolo|o|lo]o]o




